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QUESTION 1

A customer is deploying VOLTE and complains about high voice drop rates and voice quality degradation at the cell
edge in most LTE cells in the area. The network has a dense WCDMA coverage on the 700 MHz band and patchy LTE
coverage on the 2100 MHz band.

Which two features would you activate to solve this problem? (Choose two.)

A. DRX

B. 256 QAM DL

C. TTI Bundling

D. SRVCC Handover to UTRAN

Correct Answer: CD

QUESTION 2

Which two use cases are specifically targeted for 5G technology? (Choose two.)
A. multi tabbed Web browsing

B. massive machine-type communications

C. remote controlled machines

D. asynchronous transfer mode backhaul

Correct Answer: BC

QUESTION 3

An operator receives customer complaints from an indoor location. The Issues result from a bad neighbor plan in a
single RAT and frequency network.

Which two optimization processes would you use to resolve the problem? (Choose two.)
A. call trace based neighbor optimization

B. drive test based neighbor optimization

C. PM counter based neighbor optimization

D. prediction based neighbor optimization

Correct Answer: AC
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QUESTION 4

Which two statements correctly describe Single Carrier Frequency Division Multiple Access (SC-FDMA) as used in LTE
systems using uplink SIMO? (Choose two.)

A. SC-FDMA allows simultaneous uplink transmissions on the same physical resource blocks.
B. SC-FDMA is beneficial because it avoids (nter-cell interference.

C. SC-FDMA separates uplink transmissions in the time and/or frequency domain.

D. SC-FDMA is beneficial because it avoids intra-cell interference.

Correct Answer: AD

QUESTION 5

Which element is used in maintaining a 4G VoLTE call leg?
A. NodeB

B. PSTN

C. P-GW

D.BSC

Correct Answer: A
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